

$$f\left(f\left(\frac{1}{\sqrt{3}}\right)\right); f\left(\cot \frac{\pi \times \frac{1}{\sqrt{3}}}{\sqrt{3}}\right) = f\left(\cot \frac{\pi}{3}\right) = f(\sqrt{3}) = \sqrt{(\sqrt{3})^2 + 1} = \sqrt{3 + 1} = 2$$

$$f(n) = \begin{cases} \cot \frac{\pi n}{\sqrt{3}} & ; n \leq 1 \\ \sqrt{n^2 + 1} & ; n > 1 \end{cases}$$

۱

$$f \circ g\left(\frac{1}{\sqrt{3}}\right) = f\left(g\left(\frac{1}{\sqrt{3}}\right)\right) = 0$$

$$g\left(\frac{1}{\sqrt{3}}\right) = \cot\left(\frac{1}{\sqrt{3}}\right) = \frac{1}{\sqrt{3}}$$

$$f(1) = \sqrt{1^2 + 1} = \sqrt{2}$$

$$f \circ g(\sqrt{2}) = f(g(\sqrt{2}))$$

$$g(\sqrt{2}) = \frac{\sqrt{2}}{1 - \sqrt{2}}$$

$$f\left(\frac{\sqrt{2}}{1 - \sqrt{2}}\right)$$

۲

$$g \circ f\left(\frac{\pi}{4}\right) = g\left(f\left(\frac{\pi}{4}\right)\right) \Rightarrow f\left(\frac{\pi}{4}\right) = \sin \frac{\pi}{4} = \frac{\sqrt{2}}{2}$$

$$g\left(\frac{\sqrt{2}}{2}\right) = \frac{\sqrt{2}}{2} \sqrt{1 - \frac{2}{4}} = \frac{\sqrt{2}}{2} \times \frac{1}{\sqrt{2}} = \frac{1}{2}$$

۳

$$f \circ g(n) = \{(1, 5)(2, 5)(3, 12)(4, 12)\}$$

$$\begin{aligned} 1 &\rightarrow 4 \rightarrow 5 \\ 2 &\rightarrow 3 \rightarrow 5 \\ 3 &\rightarrow 1 \rightarrow 12 \\ 4 &\rightarrow 2 \rightarrow 12 \end{aligned}$$

$$g \circ f(n) = \emptyset$$

$$\begin{aligned} 1 &\rightarrow 5 \\ 2 &\rightarrow 5 \\ 3 &\rightarrow 12 \\ 4 &\rightarrow 12 \end{aligned}$$

۴

$$f \circ f(n) = \emptyset$$

$$\begin{aligned} 1 &\rightarrow 5 \\ 2 &\rightarrow 5 \\ 3 &\rightarrow 12 \\ 4 &\rightarrow 12 \end{aligned}$$

$$g \circ g(n) = \{(1, 1)(2, 1)(3, 6)\}$$

$$\begin{aligned} 1 &\rightarrow 2 \rightarrow 1 \\ 2 &\rightarrow 3 \rightarrow 6 \\ 3 &\rightarrow 1 \rightarrow 6 \\ 4 &\rightarrow 2 \rightarrow 6 \end{aligned}$$

$$f \circ g: \{(1, 1)(2, 1)(3, 6)(4, 6)\} \quad g \circ f: \{(1, 1)(2, 1)\}$$

$$a = 1$$

$$\begin{aligned} 1 &\rightarrow 2 \rightarrow 1 \\ 2 &\rightarrow 3 \rightarrow 6 \end{aligned}$$

۵

$$(a, b) = (1, 5)$$

$$f(n) = an + b \Rightarrow f \circ f: a^n + ab + b = r^n + r \Rightarrow a = r \rightarrow b = 1$$

$$f(n) = \boxed{rn+1} \quad \text{و} \quad \boxed{-rn-r} \quad \rightarrow a = -r \rightarrow b = -r$$

$$g(n) = cn + d \Rightarrow g(rn+r) = rnc + r + d = rn - r \Rightarrow c = \frac{r}{r} = 1 \quad \text{و} \quad r + d = -r \Rightarrow d = -2r$$

$$g(n) = \frac{r}{r}n - \frac{13}{r} \Rightarrow f(-1) = -r + 1 = (-1)$$

$$g(f(-1)) \Rightarrow g(-1) = -\frac{r}{r} - \frac{13}{r} = -\frac{14}{r} = (-1)$$

$$g(f(n)) = \frac{1}{n+|n| - r(\sqrt{n+|n|})}$$

$$n+|n| - r(\sqrt{n+|n|}) \neq 0 \rightarrow D_f: \mathbb{R} - \{1\}$$

$$n+|n| \neq r\sqrt{n+|n|}$$

$$(n+|n|)^r \neq 14(n+|n|)$$

$$n+|n| \neq 14$$

$$(f+g) \circ f$$

$$D_{f+g}: f \cap g =$$

$$D_f: -1 \leq n \leq 1$$

$$D_{(f+g) \circ f} = \{n \in D_f: f(n) \in (D_g \cap D_f)\}$$

$$D_g: n \geq 0$$

$$D_{(f+g) \circ f} = \{-1 \leq n \leq 1: 0 \leq \sqrt{1-n^2} \leq 1\}$$

$$D_{(f+g) \circ f} = -1 \leq n \leq 1$$

$$\text{الف) } f\left(\frac{r+1}{n-r}\right) = r^n + \Delta$$

$$t = \frac{r+1}{n-r} \Rightarrow \frac{-rt-1}{r-t} = n$$

$$f(t) = r\left(\frac{-rt-1}{r-t}\right) + \Delta$$

$$f(t) = \frac{-rt-1}{r-t} + \Delta$$

$$f(n) = \frac{-rn-1}{r-n} + \Delta$$

$$\text{ب) } f\left(n+\frac{1}{n}\right) = n^r + \frac{1}{n^r}$$

$$f\left(n+\frac{1}{n}\right) = \left(n+\frac{1}{n}\right)^r - r^n - \frac{r}{n}$$

$$f(n) = n^r - r\left(n+\frac{1}{n}\right)$$

تابع g از روی $\sqrt{2}$ و $\sqrt{3}$ معرّفی شده، پس برای آنکه $g \circ f(n) = 0$ باید $f(n)$ برابر با 1 و $\sqrt{2}$ باشد:

$$f(n) = 1 \Rightarrow n\sqrt{n} = 1 \Rightarrow n = 1$$

$$f(n) = \sqrt{2} \Rightarrow n\sqrt{n} = \sqrt{2} \Rightarrow n = 2$$

$$\Delta n = 2 - 1 = 1$$

اختلاف نقاط: